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(1) AOEREksE

ERNDOAOIL 162,595 A (AKPr 125,087 A2 42 —37,508 N) T.Frk 18 £ 163, 917 A (&Ffr 125, 988
A BUH—=37,929 N) &Y 1,322 Nigid L=, Fk 3 RAAIADK, F£40A0 22,797 A 14.0% (K
Ffr 17,850 A 14.3%, =252 —4,947 A 13.2%) - £EF&A D 94,600 A 58. 2% (APT 73, 869 A 59. 1%,
t+ 232 —20,731 A 55.3% - ZHEADO 45,189 A 27.8% (&KFr 33,359 A 26. 7%, >4 —11,830 A 31.5%)
THb,

ZEAONEEE. £F (21.5%) KRR (22. 30 I LEETHY . ELAODSHEHIENEA TN S,
ZEAOBELNBELTHIE, TET(31.5%) . AREEH (31.3% TH Y BIIF (25.3%) . &L (25. 3%) [XE
RERH>TWD,

BAAEMEIE—424 N (KFF—210 A, £>%2——154 N\) T. ER 18 FEMD—399 N (KFT—232 A.
oA ——167 N) ITHRFLHBOEMAHA SNT=,

(2) K&

HAERKE, 1,301 A (KFr1,031 A, £22—270 \) THFp 1845 1,314 X (KT 1,063 A, 24
—261 N) [TEER 1B ANBALLTWS, HEEAOFX>1E8.0 (KFF8.2, €24 —1.2) (£E 8.6,
B8.4) LBE-oTWS,

BAREHER (2,500g KiH) HAKIE 121 A, HEERHEBTT>9.3 (KT 9.4, £25-8.9) &
HoTWWd,

(3) &
FETHIE 1,725 AT, RTERAAFX>1E10.6 (KT 1,301 A10.4, 2252 —424 A 11.3) TH
Y, FRRI8ET, TI3 A FEEZE10.5 (KT 1,285 A 10.2, 252 —428 A 11.3) ITEEREFEML 1=,
RTUEEFLES 8, BRIOICHEREERTHY. COMEMIEIHKLNTI S, EAFEL TE, F146HNAE
HHEYT 423 A BE<AB+FHx>261.3, (KRFT324 A 260.5, £2%—99 A 263.9) 2 2 sk
BT294 N 181.6 (KA 226 A 181.7, 242 —68 A 181.3), HEIMMRKNMEKEET 215 A 132.8 (K
Fr168 A 135. 1, £>2—47 A 125.3) &> TW%,

(4) ALR%ET
FLRETHIT 4N, BAAFH>E 31T, FHI8FIAN2I ELERAHLN, £E2.6, R 2.4
&Y EESF,

(5) 3EE

FEREMIT 25 A, B<HEFI>IX18.9 (KFF 18 A 17.2, £ 2 —T A 25.3) TERL 18426 A 19.4
(RFT20 A 18.6, 28 —6 A 22.5) LR, ERBEHIETR =M, —ATTFEEVEZ—IZHENT
(FEH. BLLICHEEL LR ST,



(6) UEIAE BLE
YEIRANIE T18 48T, SR AOITF o> (3 4. 4 (AT 569 43 4. 5. 422 % —149 48 4. 0) BEOEAR (1 266 4T,
E<AOFR>1.64 (KRFT 2194 1.75, £ 8 —47 #1.25) THoT=,

(ANOBEICHBITHEEBEFEHICALNAD)

- EOIE THRFAHETE - 4%E 10 A 1 BRA#HTAD]

- 2. TETROHE SR - 45 10 A 1 BREHEIAOY
L. 2EDE(E., BEEFBHERTERBLROELZIBE



(1) AOBERE

7 O E #% (T2-1) (ERL19%)
A0 (10B1BHR%E) B £ B A el - B % %

S~ 5 X "o 5 8 B % 5 x "o 5 =
& E | 126,085,000 | 61,511,000 | 64,574,000 | 1,089,818 | 559,847 | 529,971 | 1,108,334 | 592,784 | 515,550 | A 18,516| A 32,937 14, 421
g B 18 2,102,259 | 1,018,531 | 1,083,728 17,696 9,077 8,619 18,910 10,045 8.865 | A 1,214 A 968 A 246
BRI 162, 595 77,882 84,713 1,301 646 655 1,725 913 812 A 424 A 267 A 157
ARG 125, 087 60, 021 65, 066 1,031 511 520 1,301 684 617 A 210l A 173 A 97
=L 94, 945 45, 382 49, 563 834 412 422 909 488 421 AT5 A 76 1
REETH 28,196 13,615 14, 581 180 89 91 370 185 185 A 190 A 96 A 94
=IIEs 1,946 1,024 922 17 10 7 22 11 11 A5 A1 A4
o/ —iNt 37,508 17, 861 19, 647 270 135 135 424 229 195 A 154 A 94 A 60
TaH 37,508 17, 861 19, 647 270 135 135 424 299 195 A 154 A 94 A 60

(FR19%F)
LR % T % E W B E 8% T
HER O O 75 2238 | R BA g A IR B R 4R | BB EK
#® & 2 ES ETH ®woHm | B & A I "o
D#gOEE| E ©

£ = 2,828 1,534 1,294 1,434 | 29,313 13,107 16, 206 4,906 3,854 1,052 | 719,822 | 254,832
g B R 43 29 14 25 430 189 241 86 64 22 | 10,687 3,560
ERHRE 4 3 1 4 25 9 16 7 3 4 718 266
ARV 3 2 1 3 18 8 10 6 3 3 569 219
s 3 2 1 3 13 6 7 5 2 3 449 187
FREETH - - - - 5 2 3 1 1 - 112 32
B A - - - - - - - - - - 8 -
o/ —iNit 1 1 - 1 7 1 1 - 1 149 47
Tam 1 1 - 1 7 1 1 - 1 149 47




4 E (T2-2) (FERL1 9 %)

X E = AEMEC =

maw | mew | B | R OR | HER SEIEE | RH | e | s

HEnE R | FeTE | BLE | K K| B R A I | B % |28UE| FTER

DILE BT
£ = 8.6 8.8 -0.1 2.6 1.3 26.2 11.7 14.5 4.5 3.5 1.0 5.7 2.02
g B 12 8.4 9.0 -0.6 2.4 1.4 23.7 10. 4 13.3 4.8 3.6 1.2 5.1 1.69
ERRET 8.0 10.6 -2.6 3.1 3.1 18.9 6.8 12.1 5.4 2.3 3.1 4.4 1.64
AFr/EE 8.2 10.4 -2.2 2.9 2.9 17.2 7.6 9.5 5.8 2.9 2.9 4.5 1.75
5 Wwh 8.8 9.6 -0.8 3.6 3.6 15.3 1.1 8.3 6.0 2.4 3.6 4.7 1.97
& EETH 6.4 13.1 -6.7 - - 27.0 10.8 16.2 5.5 5.5 - 4.0 1.13
B i # 8.7 11.3 -2.6 - - - - - - - - 4.1 -
2 —INEt 1.2 11.3 -4.1 3.7 3.7 25.3 3.6 21.7 3.7 0.0 3.7 4.0 1.25
Tam 1.2 11.3 -4.1 3.7 3.7 25.3 3.6 21.7 3.7 0.0 3.7 4.0 1.25

* BRI AOFx
2EH, KBEEDE[F, EEFBELILARINE-REZBHELTLET,
ERNOEIE, FAI9FI1I0F1HREAND (KEE#HEHE) THELEZHETT,



(2) B %=
7 ERAEEH-F (T2-3)
TR 10E T 1148 Tk 1248 TR 1 3E TR 1 48
% E | 1,203 147 9.6 | 1,177,663 9.4 | 1,190,547 9.5 | 1,170, 662 9.3 | 1,153,855 9.2
I B 8 20, 447 9.7 20, 151 9.5 20, 276 9.6 19, 603 .3 19, 617 9.3
B NERE 1,623 9.5 1,569 9.3 1,615 9.6 1,366 9.6 1,596 9.4
ARFT/NE 1,246 9.6 1,212 9.4 1,296 | 10.1 1,265 9.8 1,270 9.8
=G 7117 | 10.8 696 | 10.4 718 | 10.7 721 10.8 732 | 10.9
FEET
B # 44 9.4 42 8.9 52 | 111 471 10.0 46 9.8
BRA 21 8.3 17 6.4 13 4.9 21 7.9 17 6.4
FENF 12 8.8 10 7.3 13 9.6 14| 10.3 20| 14.6
=NIES] 19] 101 31| 14.3 20 9.3 241 11.2 33| 15.2
B 32 11.7 22 8.3 24 9.0 28| 10.5 24 9.0
A /2 FHHET 28 6.9 41 100 40 9.8 29 7.1 37 9.0
e =K 23| 10.5 18 8.5 20 9.6 12 5.7 16 7.5
=R 5 6.2 7 8.8 5 6.4 5 6.4 8| 10.1
N 143 8.9 140 8.6 167 | 10.3 159 9.9 168 | 10.4
(= fF BT 70 8.7 69 8.5 70 8.7 67 8.3 58 7.2
Al At 5 3.6 8 5.6 12 8.6 141 10.0 6.3
= A 6 5.1 15 13.1 10 8.7 11 9.6 5 1.3
14 it BT 77 6.4 65 5.9 90 8.3 A 6.5 65 5.9
L=+ 41 107 31 7.8 42| 10.8 42| 10.8 32 8.1
tyh-INEt 377 9.3 357 8.8 319 8.1 351 8.9 326 8.2
TaEm
Fx R ET 107 9.1 115 9.7 110 9.4 101 8.6 108 9.2
INSRET 35 8.5 28 6.9 31 7.7 2] 10.8 27 6.9
T = HT 146 9.6 150 9.9 107 7.2 133 9.1 134 9.1
EIIL] 68 8.6 52 6.6 49 6.2 60 7.7 46 6.0
st 21 13.1 12 7.4 22| 13.8 15 9.4 11 6.9
FR15% FR16%F FR17E T 1 8% FR19%F
= s = = E = S o = = o E | XE o P
ES E | 1.123 610 8.9 | 1,110,721 8.8 | 1,062,530 8.4 | 1,092, 674 8.7 | 1,089, 818 8.6
5 B 8 19, 156 9.2 18, 363 8.7 17,706 8.6 18, 092 8.6 17, 696 8.4
BN 1,467 8.7 1,364 8.2 1,347 8.1 1,314 8.1 1, 301 8.0
ART/NE 1,186 9.2 1,082 8.5 1,046 8.2 1,053 8.4 1,031 8.2
=l 704 | 10.5 620 9.3 825 8.6 832 8.8 834 8.8
FrReEE 219 7.5 201 7.0 208 7.4 180 6.4
FHE N 47 | 10.0 37 8.0
AR 12 4.5 26 9.6
EE k) 11 8.1 8 6.0
=MIE:] 16 7.4 14 6.6 20| 10.1 13 6.7 17 8.7
=H 19 7.1 29 | 11.0
A R EFET 34 8.3 26 6.5
E=E ] 14 6.7 7 3.4
= AR AT 6 7.7 5 6.6
0 )1 #T 155 9.6
=] fiF BT 59 7.3 58 7.2
AR 16| 11.4
LS 8 7.0
14 it T 58 5.3
LEH 27 7.0 33 8.7
tyh-1NET 281 7.1 282 7.2 301 7.8 261 7.0 270 7.2
TEH 282 7.2 301 7.8 261 7.0 270 7.2
Fx R T 96 8.2
INSRET 28 7.2
T S ET 104 7.1
S ILET 45 5.9
5 #ast 8 5.0

* FIIAAFx




HEROHERE F2—-1)

120

100

8.0 =

0o

H10 11 12 13 14 15 16 17 18 19

% B B KEE T M FRERN K t5-EX

1 HAERKE (T2-4)

(FR 1 94)

. 1,000 | 1,000~ | 1,500~ | 2000~ | 2500¢

BB s |1 sooexm| 2 000sk | 2, 500k | mk T
% B = 17, 696 48 59 228 1.276 | 16, 081
BRI 1,301 - 4 21 % 1,180
ARG 7,031 _ 4 17 76 934
=L 834 B 3 15 55 761
REaT 180 - i 2 19 158
0, 17 - - — 2 15
8 — &N 270 . - 4 20 246
FaEm 270 _ R 1 20 246




v FRHEAER (2, 500K HEH - R (T2-5)
ERL105F FEREL11EF ER12F FRL135F ER14F FRL155F ERL164F FEREL175F ERL1 84 ERL19F
EH | e | wm | wx | mm [®«| mm [we| mm [ wx| mm [®m«| mw |®«| mm [ mx| mm [®m«| TH | wx
ES El 98,112 8.2 99,163 | 8.4 | 102,888 | 8.6 | 102,881 | 9.0 | 104,314 | 9.0 | 102,320 | 9.1 | 104,832 | 9.4 | 101,272 | 9.5 | 104,559 | 9.6 | 105, 164 9.6
Ix & & 1,637 ] 8.0 1,647 | 8.2 1,751 1 9.0 1,738 1 9.0 1,724 | 8.8 1,746 | 9.1 1,802 | 9.8 1,682 [ 9.5 1,687 | 9.3 1,611 9.1
BN 124 | 7.6 114 | 7.3 138 | 9.0 122 ] 8.0 135 ] 8.5 138 ] 9.4 133 ] 9.8 129 ] 9.6 126 | 9.6 121 9.3
AFTE N 94 ] 7.5 87 [ 7.2 115 ] 9.0 91 7.0 102 | 8.0 1141 9.6 108 ]10.0 105 ]10.0 105 ]10.0 97 9.4
= W 54 1 1.5 551 7.9 66 | 9.0 56 | 8.0 56 | 7.7 66 | 9.4 611 9.8 791 9.6 78] 9.4 13 8.8
FREEH 18] 8.2 25 |12.4 24 111.5 22 | 12.2
FHE A 6.8 1124 5 110. 6 2143 6 ]13.0 3]6.4 4 110.8
BRA 14.3 - - 1148 - - 1159 - - 3 |11.5
A - - - - - - - - 1150 1191 1]20.0
B+ 1153 2] 6.5 2183 11 4.2 21 6.1 2 112.5 1] 7.1 1150 3 123.1 2] 11.8
X3 2163 21 9.1 21 7.1 21 7.1 3 [12.5 - - 216.9
A < B H]] 6 |21.4 6 |14.6 3 110.3 2169 4 110.8 3] 8.8 4 115.4
HBH 1] 43 1656 11]8.3 - - 1]6.3 2 114.3 1]14.3
=R - - 1114.3 - - 1120.0 3 137.5 2 133.3 - -
=RLLs 7149 8157 141 8.8 151 9.4 121 7.1 21 [13.5
= fF HT 9 ]12.9 4158 3145 5175 416.9 6 110.2 9 115.5
AEF - - - - 1171 - - 1 ]11.1 1]6.3
=IH - - - - 1191 - - 1120.0 1112.5
76 [ ET 678 51 7.1 12 116.9 3142 6]9.2 416.9
EEH 2145 2| 6.5 41 9.5 41 9.5 1] 3.1 21 7.4 4 112.1
t5—-/NET 30| 2.6 27 ] 8.0 231 1.2 311 7.2 33 ]10.1 24 ] 8.5 25 ] 8.9 241 8.0 211 8.0 241 8.9
=L 25 241 8.0 211 8.0 241 8.9
FX IR BT 6|56 111 9.6 8172 6159 12 111.1 11 [11.5
/N AT 4 111.4 - - 11]3.2 3] 7.1 4 114.8 3 110.7
T ST 10| 6.8 916.0 716.5 121 9.0 121 9.0 41 3.8
= LT 9 [13.2 5 110.0 5 110.2 6 110.0 41 8.7 5 |11.1
h kel 1] 4.8 2 117.0 21 9.1 4126.7 1191 1]12.5

* E[F9% (HEB)




I BOE&HHEESR (T2—-6—1)

(ERk1 9%)
~14 |15~19|20~24|25~29(30~834|35~39|40~44|45~49(50UL| T Hi
I B I - 231 2,067 5,634 6, 837 2,639 282 6 - - 17, 696
ERNERET - 13 140 418 501 211 18 - - - 1, 301
RFE/NET - 1 104 332 386 183 15 - - - 1,031
Em - 8 80 278 304 150 14 - - - 834
FeEE - 2 23 50 74 30 1 - - - 180
=PIk - 1 1 4 8 3 - - - - 17
th-1NEt - 2 36 86 115 28 3 - - - 270
Tam - 2 36 86 115 28 3 - - - 270
F FEREHRAIZXFAD - SEEGRHEE (T2-6—2)
(ERL1 94)

15~198 | 20~248 | 25~20% | 30~348 | 35~30m | d0~dast | d5~aopp |FELEAH

£ E | 3,019,000 | 3,411,000 | 3,705,000 | 4,507,000 | 4,556,000 | 3,992,000 | 3,791,000 1.34
Ik B2 53, 736 55, 496 58, 858 71,516 72,718 65, 095 63, 415 1.34
ERRE 3,935 2,399 3,752 4,927 4,974 4,662 4,809 1. 61
ARAINET 3,002 1,921 3,040 3,973 3,959 3,580 3,698 1.57
&L 2,304 1, 600 2,458 3,189 3,132 2,716 2,857 1.57
FREET™ 670 298 536 79 mn 764 796 1.58
=IIES] 28 23 46 65 56 40 45 1.1
th-INEt 933 478 712 954 1,015 1,082 1,111 1.75
Tam 933 478 712 954 1,015 1,082 1,111 1.75

i SEFRHERET BT EE, BRAMHAD
B R UTHAT 3 SR RHATHA. S8 (5REH) BEHADLY CERI9EI0818EE)

BEtERHER= (BOFHAHER ZIAFHARALZFAD) DISE~49RDEE
OmERTHEHL, SELE-LDZEAFTLTEL)

h BEHEREER (02-1)
RIS | FR164F | FRUITE | FR18E | FHRUIE

ESES] 1.29 1.29 1.26 1.32 1.34
I B2 IR 1.36 1.31 1.37 1.35 1.34
ERHE 1.66 1.58 1.51 1.57 1. 61
AFTNED 1.47 1.55 1.46 1.55 1.57
W 1.63 1.51 1.44 1.52 1.57
FREETH 1.85 1.75 1.53 1.69 1.58
=PLES) 1.98 2.20 1.94 1.52 1.71
w9 INEL 1.67 1.68 1.7 1. 64 1.75
=k 1.67 1.68 1.1 1.64 1.75
S - EHATOTEM S EE5 L TEH (FRI15~174)
MEET . SHATOHN 2 Z A5 L TEY (FRIS~16%)
Taf : EHIOEHIZE5 L THELE (FM15~16%5)
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(3) & .
7 ERFECHEH-FER (T2-7)
R 1 0% AR TR 25 FRk1 35 TR 45
ES ] 936,484 | 7.5 982,020 | 7.8 961,653 | 7.7 970, 313 7.1 982, 379 7.8
I B B 15,943 | 7.5 16,880 | 8.0 16,577 | 7.9 16, 522 7.8 16, 905 8.1
ENRE 1,501 | 8.8 1,636 | 9.6 1,553 | 9.2 1,518 9.0 1,569 9.3
A& R 1,118 | 8.6 1,220 ] 9.4 1,122 ] 8.7 1,159 9.0 1,201 9.3
=G 531 | 8.0 582 | 8.8 536 | 8.1 531 8.0 548 8.2
FHE I 30| 6.4 421 8.9 431 9.1 39 8.3 471 10.0
EEH 23] 9.1 25 9.4 20] 7.5 26 9.8 26 9.8
i) 114 15[ 11.0 20 | 14.9 17126 12 8.8 10 7.3
=IIEE 21 | 11.2 21 9.8 14] 6.5 17 7.9 16 7.4
= F 25| 9.1 27 ] 10.2 2] 8.3 25 9.4 16 6.0
A /2 BFHT 46 | 11.3 48] 11.6 ] 9.9 431 10.5 52| 12.7
ZH# 22 | 10.1 29 | 13.5 30 | 13.9 24 | 11.2 23| 10.8
=1EH 5| 6.2 12 ] 14.7 5] 6.1 7 8.6 10 12.6
=L 149 | 9.3 161 | 9.9 145 | 8.9 169 | 10.4 155 9.6
= FT BT 53] 6.6 541 6.7 70| 8.6 71 8.8 80 9.9
A 0] 7.2 10] 6.8 17 11.6 12 8.3 16 11.2
= )1 #] 13]11.0 13]11.0 16 [ 13.6 18] 15.4 10 8.7
4 [iE] AT 140 | 11.7 142 | 12.3 114 ] 9.9 115 ] 10.1 143 ] 12.9
L EH 3| 85 34| 8.5 32| 8.0 50 | 12.6 49| 12.4
3 —ERN 383 | 9.4 416 | 10.2 431 ] 10.7 359 9.0 368 9.3
R ET 118 | 10.0 129 | 10.9 111 ] 9.5 111 9.4 114 9.7
INR T 47 [ 11.4 1] 100 50 | 12.5 27 6.8 41| 10.4
T S H] 125 | 8.2 146 | 9.6 153 | 10.3 115 7.8 114 7.7
ETS 81 | 10.2 89 | 11.3 97 | 12.3 83| 10.7 82| 10.7
Lt 12] 1.5 1] 6.8 20 | 12.5 23| 14.4 17 ] 10.6
FRI5A FRI 68 TR A A 1ok
ES ] 1,014,951 | 8.0 ] 1,028,602 | 8.2 | 1,083,796 | 8.6 | 1,084, 450 8.5 ] 1,108,334 | 8.8
I B 8 17,118 | 8.1 17,705 | 8.4 18,511 | 8.9 18, 638 8.9 18,910 | 9.0
& NI E 1,740 | 10.3 1,701 | 10.2 1,750 | 10.6 1,713 ] 10.5 1,725 | 10.6
AFR/NEE 1,330 | 10.3 1,277 ] 10.0 1,323 ] 10.4 1,285 | 10.3 1,301 | 10.4
= lH 502 | 8.9 605 | 9.1 944 | 9.8 917 9.7 909 | 9.6
REET™ - 318 | 10.8 364 | 12.6 348 | 12.3 370 | 13.1
FHE 4 63 | 13.5 55 | 11.8 . - . . - .
EHRH 28 | 10.5 21 7.8
FENIES 16 | 11.8 16 [ 12.0 . . .
=S 13] 6.0 25 ] 11.9 5] 7.1 20 | 10.3 221 11.3
=H 26 | 9.8 28 | 10.6 . . .
A 2 EpHT 55 | 13.5 53 | 13.1
EISES 25 | 12.0 24 | 11.5
=R 8] 10.3 13]17.2
4 JIHT 180 | 11.2 .
(= FT T 69 | 8.6 83 ] 10.3
A 17 ] 12.2 .
=1 $ 15 | 13.1
4 fiE] BT 175 | 16.1 .
= 48 | 12.4 36| 9.5 . . . . .
+ A —INEt 410 | 10.4 424 1 10. 427 | 10. 28 ] 11.4 424 1 11.3
TEH . . 424 1 10.9 427 | 10. 428 | 11.4 424 1 11.3
ﬁﬁﬂﬂ' 100 8.5 . . . . . . . .
/N BT 45 [ 11.6
T ST 159 | 10.9
% LLAT 87 | 11.5
RS 19| 12.0
*  E(IAQFx
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4 FERFRFECH-EX (T2-8)
<HRE> (FRL19%)
& % EUHYE M B S b & B
CLET RN @B BpH (B 18) BEE (EH) BELGHEE
£ ¥ x| 2 om | =« £ u = * £ #  x £ % % * £ M = * £ # = * e % *
£ E 1,108, 334 879.0 336, 468 266. 9 121,041 100. 8 14, 243 1.3 33,135 26.3 76, 247 60. 5 175, 539 139.2 43, 780 34.7
Ik 2 2 18,910 899.5 5,478 260. 6 2,087 99.3 226 10.8 545 25.9 1,264 60. 1 3,198 152.1 682 32.4
EREE 1,725 1,065. 5 423 261.3 215 132.8 21 13.0 49 30.3 139 85.9 294 181.6 68 42.0
AREUINE 1,301 1,045.9 324 260.5 168 135.1 15 12.1 37 29.7 110 88.4 226 181.7 50 40.2
Bl 909 957.4 228 240. 1 103 108. 5 9 9.5 21 22.1 10 13.7 164 172.17 40 2.1
B 370 1,333.5 95 342.4 57 205. 4 6 21.6 13 46.9 36 129.7 60 216.2 9 32.4
B 22 1,294.9 1 58.9 8 470.9 - - 3 176.6 4 235.4 2 171 1 58.9
2 —INE 424 1,130 99 263.9 47 125.3 6 16.0 12 32.0 29 71.3 68 181.3 18 48.0
Tam 424 1,130 99 263.9 47 125.3 6 16.0 12 32.0 29 7.3 68 181.3 18 48.0
oo FEOF M x % B & W& B CE P B R A # B
£ ¥ % * £ # £2x | 2 om £ * £ # £+ | = om £« | 2 o#  * £ # & * £ % % *
kS JE3) 110, 159 87.4 37,966 30. 1 30, 734 24.4 30, 827 24.4 16,195 12.8 21,632 171.2 13,999 1.1 2,194 1.7
i 8 2 1,908 90. 8 1M 36.7 754 35.9 446 21.2 224 10.7 387 18.4 203 9.7 55 2.6
ENRE 144 88.9 58 35.8 158 97.6 49 30.3 16 9.9 36 22.2 21 13.0 2 1.2
ARG 103 82.8 46 37.0 114 91.6 40 32.2 11 8.8 25 20.1 16 12.9 1 0.8
2 81 85.3 33 34.8 78 82.2 31 32.7 6 6.3 17 17.9 8 8.4 1 1.1
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